SH6FE LTEFMNERE RMEEFEFEIREL

w6 %12R26H

SEZ I EIBTAIENE
LERNSEEE AR WE
&
Arxp|lEE|_ |20 s K E % £ O B F |=mEHE| #F 2 o B 8 = 2 o ©B = AMURUZHAR| ALBEE| F =
=
- B IE | SARTEEML A BRME GEMR] -2 |[®E4(1,720m3). BHE(1,680m3). £ | —MEEEEAL _
R6.4.1 | #138| 1 M11s8 17k we
£ BOILEEHK 1 004MIEL VIS A% - S EMESER. fB3%4.38ha (E2HIEH) - f
SHREEE MR RIt% (5,200m3) RUSESHIELERE | —MES AL
R6.4.1 | ¥158| 2 VR = W11y B |RE% UERE ’ 55170241 wa
AR REREEPE | ) s L EAH1006HIE VIS | REm DERE] a0 (EHEH) HLEH f
AT - AR | SREEEHLINE e e IREK(2,700m3)RUESEMIELERT | —AREESEAAL _
R6.4.1 % 3 #911 Efk - 1B ERUtES wae
R £ B BEILESAK 10 1O VNI W1z B (Rt - SRS CHB#6.14ha (E2HIEH) S f
SR B RS RItE (3,600m3) RUMESHEL BNz 55300447
R6.12.26( th1k| 4 B A = #1145 AEBRM% S ! —hEERg A ne
REEER | sk RILE G 14713/ I 7 R|REE DARE] a0 R L (chit) f
BAIRZEEML) R Rf% (10,000m3) RUSEEMIESER |  —AES AL
R6.4.1 |#18| 5| == = #9135 BRIk DERR ’ 5517034 Hwa
R REEEBE | w48 LEEH2004HIEL VIS #3527 | REMW& UARE] 1) (E2HIEH) S f
SR BB PR R RItE (3,000m3) RUMESHEL BNz 55300447
R6.12.26| thiF| 6 Hue = 910 Bk CERB ! —R%ER wa
o REEBE | 104 B [EEmk bERR) . B AL o) %
BAE B TS Rtk (5,000m3) RUEEMIELERE |  —AES AL
R6.10.18| 3&p0| 7 E = 11 Bk SRR ! ElurET wa
B REEEBE | oo o o L E 220 LATEL VIS Wiy R REB& UARE] =8 (E2HIEH) S f
SR T E A B RIt% (2,600m3) RUSESHIELERE | —MEE AL
R6.4.1 | ¥1#8| 8 VR = #1048 |[REm% UERE ’ 55170241 wa
AR RREEPE | s UEaH23sHIE N | REmf DERE] =xa) (ZHEH) HLEH f
BHELTE 1143 | x (2,900m3 NEEIS 1= .
reazoe|iem| o | mesmmm T oml=aHUIHE W11 B @B DERR ik m3) RUSEMIERERE | eoil | mameem wa

7 ILEBM103 13T 3/ \HEst

20

() ARBELU(EG. ARERICBITDFREIDRELTHD. BEEIDENHDET.




